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Exercise 1:

Determine the Fourier transform of each of the seguences below:
(a)
%(n) = &(n - 3)

Figure P4.1-1

(b)

x(n) = 2 6(n+ 1) +6(m +36(n=-1)
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(c) x(n) = a ul(n) 0=a<l
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Exercise 2:

(a) Consider a linear shift-invariant system with unit-sample response
h(n) o u(n), where o is real and 0 < o < 1. If the input is

x(n) = 8" u(n), 0 < |B| < 1, determine the output y(n) in the form
yi(n) = (klun + kzﬂn} u(n) by explicitly evaluating the convolution
5um.

{b) By explicitly evaluating the transforms X{ejm], H(e]m] and Y{ejm}
corresponding to x(n), hin), and v(n) specified in part (a), show that

Y(ejw} = H(ejw} Xiejwl

Exercise 3:

Let x{n) and x(ejw} represent a sequence and its transform. Do not
assume that g{n] is real or that x(n) is zero for n < 0. Determine in
terms of X(ejm] the transform of each of the following:

(a) k x(m)

(b) =x(n - nﬂl where nIJI is an integer

(c) n x(n})



